Higher Mathematics Straight Line 1-6 - Parallel & perp gradients

SQA Past paper questions

2022 - Paper 1 - Question1
Determine the equation of the line perpendicular to 5x + 2y =7, passing through

(-1,6). 3

Click here for video solution. /-

[

2019 - Paper 1 - Question 7

The line, L, makes an angle of 30° with the positive direction of the x-axis.

Find the equation of the line perpendicular to L, passing through (0,—4). 4

Click here for video solution. i~

[

2017 - Paper 1 - Question 11

A and B are the points (-7, 2) and (5, a).
AB is parallel to the line with equation 3y — 2x = 4.

Determine the value of a. 3

Click here for video solution. /i~

2016 - Paper 1 - Question 1

Find the equation of the line passing through the point (—2. 3) which is parallel to 2

the line with equation y+4x=7.

Click here for video solution. /&~

[

www.rigourmaths.com Rig €9 ur Maths



http://www.rigourmaths.com/
https://youtu.be/uaU1rUAu8A4?si=WD0XY7aTydmh7oWE
https://youtu.be/IoY6z7foFYU?si=mik6oZHQV3ftnB_q
https://youtu.be/GxsoOLaF4MI?si=9Akhif1E7LjLpyRN
https://youtu.be/JWtKlv5UO2A?si=iKYGqwNgH_LZa7iq

Higher Mathematics Straight Line 1-6 - Parallel & perp gradients

Specimen - Paper 1 - Question 5
Line /, has equation /3y —x=0 .
(a) Line /, is perpendicular to /,. Find the gradient of /,. 2

(b) Calculate the angle /, makes with the positive direction of the x-axis. 2

Click here for video solution. .Ji~

o

2007 - Paper 1 - Question1

Find the equation of the line through the point (-1, 4) which is parallel to the
line with equation 3x -y +2=0. 3

Click here for video solution. &~

[

2006 - Paper 2 - Question 1 #
S(4, 6) R-

PQRS is a parallelogram. P is the
point (2, 0), S is (4, 6) and Q lies on
the x-axis, as shown.

=y

The diagonal QS is perpendicular to O' P(2,0) Q
the side PS.

(a) Show that the equation of QS is x + 3y = 22. 4
(b) Hence find the coordinates of Q and R.

Click here for video solution. &~
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http://www.rigourmaths.com/
https://youtu.be/jFNqvk5kVyw?si=gozN5dGA4QRcGqr-
https://youtu.be/puKIZ8I9iIY?si=OajbK9zi5BXZ3rQI
https://youtu.be/Q5BNG3JH9V0?si=qM1ZysRj73IejlFI
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2003 - Paper 1 - Question 1

Find the equation of the line which passes through the point (=1, 3) and is
perpendicular to the line with equation 4x+y—-1=0.

Click here for video solution. &~

[

2001 - Paper 1 - Question 1

Find the equation of the straight line ;Nl‘liCh is parallel to the line with equation
2x + 3y =5 and which passes through the point (2, =1). 3

Click here for video solution. /i~
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https://youtu.be/nvjJBbVCnoU?si=qur5f3yfFJEI6cBX
https://youtu.be/qy5Pu40KZeY?si=5M0C8iGMs99ch36M

